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1 2?24 22% %0327y 2Rk 2, v, 2 SHLTTIR v K 2
BEXEM R, y, & z =KFXLFHM?
(8] a%yz®+22% %%+ 3270%° K, IR = 187 K, v 8 4%,
R8Iy R 255 10 KIBR , vy 2 185 17 K,
2. (x+DEEE3) (2 -7) ZRBEM?
[(#8] @+DQEAE3)E-T7) 45 7 %K.
3. B 3aT4zb—dxt 18— 12, du li) § 277 221k, n, ap, ap,e
A T
(#8] U 32"+ 2% 42t 42212 B agr®+ 212" 4 @p2" =3 4 vee vee
apa1x+a, B
n="7, a=3, a;=1, a;=0, a;=—4,
ag=1, uy=0, ¢g=0, a; = —12.
4. #F f) =22 -2*+3, &k £(0), F(=1), £(3), FB).
(881 £(0) =2(0)3—(0;*+3=3.
A-1D=22(-1)3~(-1)24+3=-2—-1+43=0.
f(3)=2%x3%-324+-3=54—943=48.
J(8)=2xX83—-5*x3=1024-—64+3=0963.
B #H f2)=(22-3:+2)/22+5), Bk £0), £(—2), £6).
(8] /(0)=(02-3%x0+42)/(2x0+45)=2/5.
f(=2)={(=2)*=3(-2)+2}/{2(—2)+5}
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={44642}/{-4+5} =12.
F(6)=(63—3%6+2)/(2%6+5)
=(36—1842)/(1245) =20/i7.

8. # f@=z+Vz+3, Bk £1), 74, £5).

(#%) f)=1+4+4/143=14143=5.
f(4)=44+/44+3=44243=09.
f(5)=544/5+3=844/5.

7. # @ =243, Al fz—2) FWr f2+1) T2

(W] f(z—2)=2@—2+3=22-44+3=2z—1.
f@t41)=2@%+1) 43 =222 +24 3 =2x24-5.

8 & flx,y)=24z—y+8, RRTFRIHMi:

70,0, 71,0, £0,1), £1,1), f(-2 —3)

(48] f0,0)=054-0-048=8.
f1,0)=134+1—-048=141—-048=10.
F0,1)=034+0—-1483=04+0-148="7.
Ff(1,1)=1834+1-148=141-14+8=9.

f(—2, =3) = (-2 (-2 —(—3)+8=—8-243+8=1L
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1. Jm daa?y, —€axy, 5bz%y, B — 3bx?y.
(821 4ax®y+ (—6azly)+5bay+(— 3ba’y)
= 4az?y — 6ax’y+5bx% — 3bxly
= — 2ax%y 4+ 2bx%y =22y (b — a).
2. fm 7a*+2a—b?, 3a+4b*—2a?, K& b%-- 4a—4ad.
[#%] (7a*4-2a—b%) + (3a+b%—2a?) + (b%— da — 4a?)
=70"+20—b*4 304 b2 -2+ 1% — da—4a*=a’+a+ b -
2 g 322 —5x+46, 224228, kg —4a?4 327,
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(] (2—5z46)+ (a2 +2z—8)+(— da®432—7)
=323 -5x+642* 422 —8—422432—-7T=—9.
4. iy 4a®+4a%—50b% §a®— 6ab?—a’b, a4+ 1068, F 6b°— 15ad?
- 4a2%b—104d3,
(W] (4a®+4a?b—5b% + (§a®—6ab2—a?b) 4 (3a®4100?)
+ (65%— 15052 — 4a2b — 10¢%)
= (44341 —10)a%+ (L — 1 — 4)a%b+ (— 6 — 15)ab?
4+ (-541046)08= —4a®—4a’b —21ab* 41153,
5. fi 3at+b—c j§ 4a—2b+6c. '
(f#] (Ba+d-c)—(4a—2b46c)=3a+4b—-c—4a+2b—6¢c
=—a+3b-"Te.
6. Hy 2%4-62245 R a3 —5x4-7.
[f&] (2°+62%+5)—(22?—5247)=2a8+62%+5— 2a¥4 5217
=234 425 — 2.
7. a®+5a* T RGBS o®+ 0%
(%] & » B R (@®+5a%)+p=a+ b
.. p=(a®4b3, — (a®45a?b) = a®4- b®—a®— 5¢%b=b(b? —5a3).
8. th "4y~ 645y W =Rz |
‘ — 22— 64Ty —8, 234223 —5y+9.
C[#R]  (2®+4P-6a+5y) - {(- 22362+ Ty - 8) 4 (¥+ 222 - 5y + 9)}
=284y8—6z+4 5y — {2®— 6z +2y+1}
=284y — 6z 5y —2b 46— %y—1=9343y—1.
9. Mt —(a+d)+{—a—Qa—b)} —6(a—4b).
(] —(a+d)+{-a—(Ra—-b)} —-6(a—4d)
=—a—b—a—2a+b—6a+24b = —10a+24b.
10 ik 6z— {4z+ (22— (B3z+52+7-1)+3]-8}.
4] 6z— {4+ [22— (3z+52+7—-1)+3] -8}
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=6r—4z—[22—(3z+52+7—-1)+3]+8
=6z—4z—-2x4 3245247 -1)—-34-8
=6x—4r—2243x+524+7-1-348
=8z+411. ,
B 6r— {dr+ 2xr— (Bx+ z+7-1)43]-8}
=6z-— {4r+ [2x— (82+46)+3] —8}
=6z- {4x+4+[—6x—3]—8}
=6z~ {—2x—11} =6x+2x+4+11=8z411.
11., filifk. 2a—[4a—c+ {3a—(4b—c)— (b+43c)} —6¢c].
(W] 2a—[42—c+ {3a— (4b—c) —(b+3c)} —6c]
=2a—[4a—c+ {3a—4b+c—b—3c} —6c]
=2a—[4a—c+3a—4b+c—b—3c—6c]
=2a—4a+4c—3a+4b—c+b+3cH46¢c=—5a+45b+9e.
% 2a—[4a—c+ {3a— (4b—c)— (b+3c)} —6¢]
=2a—[4a—c+ {3a—5b —2c} —6c]
=2 —[7a—5b—9¢c]= —5a+5b+9c.
12. th2—(3z4+(y+52)] & = 3y +22).
(#3] 2—[B3z4+(y+52]—[z— By+22)]
=z—3x—y - S5z2—x+3y4lz=2y—4z -2z,
13. 224 8x+45 MR AL 2277
(WR] & » BPREMR, A p+ (@ +82+5) =217,
S p=a—T7— (2" +8x45)=a%—-7—22-8z-5
=28 —z*—8z--12.
14. z*—922+ 3y HmW X EhEESF v*+2 77
(88) & p BHRBIR, B pt (@ —92243y) =42 + 2T,
S p=yria—7— (2t =974 3y) =yt a7 -2t 4922 -3y
=y*—3y—z*+ 92> 4z-1.



2 X N » 5

2 F II #5 106 ¥
1. P22 —3x41 3@ 32°— 22t — 2%+ 722 — 61 5.
(4] 3— 214 7— 64+ 5
92— 341

6— 4—24+14—12410
— 9464 3—21418-13
3— 2— 14 7— 645
6—13+7+15—-34+35—21+45
BRAERISAE 5 KK 2 KA, BHHFEE 7 XK.,
c RS 627 — 132+ 7241524 — 34184 3522 — 212 4-5.
2. U 32%—ar—2a® Fp 52%— 3ar?+2a%zr+al

(2] 5— 3+ 241
§= 1= 9
15— 94 6+3
— 54 3-2-1
—1046—4--2

15—14— 14+7—-5-2
BRERARBRXER o, 2 ZHK 3 AR 2 XX, BHRFRHS 5 XK
L &
S PR A 152°— 14azt —a®28+ Vals? — 5atz — 2ab.
8. Mzty R a2t —aty+a%—atyttayt -4t
(%3] : 1—141-141-1
141
I=14l=1+¢1~1
e Lefd — T 1~1
I+0+0404040-1
BRARBRAES o, v ZHERS KKk 1 KR, HHRHER 6 %5

Kr—t
. FPRER a*— %
4 Pl 228 -82+45 o 328 — 22347, °
8 32404 7
2403+ 5
6— 4+0+14
—94 64 0-—-21 ..
15—104 0435

6-4—‘9+35—1o—2;+73'5
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BRAKFRNYE 3 KA, HHTFE 6 XK.

o FEREEAS 62°%—4a® - 924 3523 — 1022 - 212 4-35.
5 M 4x—5y Fe Tx—2y, HRREEHEEA.

(8] (Tz—2y)(4x—5y) =282*— 43xy+ 10y

6. Y b4z Fa®—axrtbr—at

(%3] a? —(a—0b) -1
_b+1
atb—(a—b)b  —b
+a? —(a—b) -1
ab+ @ —ab+d)—e  —1

’Eﬁi@i‘t&*i&%ﬁ 222Kl R, HRPHES 2
. FERBEAS a?b 4 (a® —ab 4 bP)r—ax?—ab.
7. U 34at—x Fo at— 2z 4522 — 28

[#%] 1-145- 2
: 1-1+43
- T=145- 9
widde §4 8
3— 34+15—6

1-249-104+17—6

ﬁ%’éit&%it%ﬁ 4 KB 2 KA, HHEHE 6 KR,
" RS 2% —22° + 928 — 10241722 — 6z,
8 P a*?—a"3 @ 22" — 32" 4 5a-s.
(#%] 24+0—345
1-1
240-3+5
—2+40+3-5
2—2-34+8-5

3 th'

HRABERXER n K o—2 K0 HOULRRTR 20 -2 KR,

- FREEAS 2073 — 22778 3g%-1 4 §z7n-5 _ 5 28,
9. Ll a*4-ab—3b% e a?—ab+3b2%
[#8] (a®-—ab+36%) (a*+ab—3b%) =a* —(ab - 3b%)?
=at— (a2b% — 6ab® 4 9b%) = at — a?b? + 6ab® — 9b4.
10. U z—3y+422 Fa43y—22.
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(8] (x+43y—22) (z—3y+22) =22 —(3y—20)?
=22— (9y%2—12yz+422) =22 - 9?4 12y2 — 42

11. Uz—y—135 2+ry+y’+r—-y+1

[(#2] @+zy+v*+z—y+1)(z—y—1)
=[(@tzy+ )+ -y +1][(z—y) —1]
= (@ +ry+y*)x—y) — @ +ry+d) +(x-y)2 -1
=t~y -2t —ay —y? 2 -y +y* -1
=23 —¢y3—3xy—1.

12. Y a+b—c R a*+ b+ c?+ be+ca—ab.

(MR] (a®*+b*4-cE+be+ca—ab)(at+b—c)
=[ala—b+c + B *+be+c?][a+(b—c)]
=ala?— (b —c)? ]+ a(d24bc4c?) + (b2t tc+c?) (b —c)
=a®—ab?+42abc —ac?+4ab*+abectact 413 —c?
=a®+ b3 - ¥4 3abe.

13. P xz—4y-6 F 3=z—2y+5.

[(#2] Bz—2y+5)(z—4y+6)
=323 - (3% 442X D)ay+8y*+ (B 645X 1)z

—(2X6+5%X4)y+30
=322 — 14y +8y? + 23z — 32y + 30.

14. 1 2x+y—833.§z+7y—3c.

(M) @+7y—32)(Rx+y—82)
=2 (1+14)zy+Ty%* — (64 8)xz2— (34 56)yz + 2423
=922+ 152y + Ty — 1412 — 59ye + 2422,

15, R (b+2)(b—-2)(b?+a?).

(B O+a)(b—2)(0*+a?) =(02—z) (B4 22) = b -2t

16. kif (2®+2+1)(@®—2+1) (et —2?41),

(#2] (@*4z+1)(@?—z+1)(@2*—22+1)
=[(2*+1) + 2] [(z*+1) — 2] (2* - 27+ 1)
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=[(22+ 1) —22] (@ — 2+ 1) = @ + 2%+ 1) (2t — 224 1)
=[x+ 1) +22][@at+1) — 2] =(z4+41)3 -2t
=28 42201 -zt =284 24 1. P

17 ki cty+2)(—z+y+2)(@—y+2)(cty—2)

(#8) @+y+2)(—zty+2)@—y+2)(z+y—2)
=[(y+2)2—22][+*— (y —2)"]

- =4zt -2 (B -y 22— 2P
=[yz+(y*+2*—2")] [2yz — (¥*+2" —2Y)]
._.4y‘z'l_(y2+zﬂ_x2)l
=4yt — (y 42t 2t 222V — 22Ny — 22
=252y 4 2y + 2232 — 2t — yt — 24,

18. fE 2*+a+1 ZAHHRFHEZHRBER.
(#8] 2*+x+1 2HHE 1+14+1, HATNEZ FRT A TER
z.

14141 . ............,....................x"+;c+12(&&
414 1(x
1+14 1
5 1+ 14 1
14 14 1(+

1+2+ 3+ 2+ ] ccevvecensesvenseitsanee (t’+x+1)’z%m
1+ 24 34 24 1
1+ 24 34 24 1(+
1434 64 74 64 34 1 cecocrecnnn(z® x4+ 1) ZHFH
14 34+ 64 74+ 64 3+1
14 34 64 74 6434+1(4
14+44+104+164194164+104+441 oo (22 x4+ 1)% Z /R B
19. SHBTE a+b ZRRFF LA EHTRER .
(8] & 8312 Z2Hu:,45:
A41,14241, 1434341, 144454441, 1454104104541,
146+15+2041546+1, 147421+ 354+35+21+7+1,1+8
+284564704564+28+8+41,14+9436+84+12641264-84436




X X 7 W 9

4+94+1,14+104454+120+2104-252421041204+4541041.
20. % (az—3y)* Kk (dz—3p)s.
(MR] (z—3y)?%= (42)%+2(42) (—3y) + (—3y)?
=162—24xy+ %92
(47— 3y)®= (42)%+3 (42)%(—3y) + 3(42) (— 3y)* 4 (— 3»)®
= 6428 — 1442y 4 108xy® — 279",
21, sk (z42y+3z—4du)d
(W] @+2y+32—4u)?=[(z+2y)+ B2—4u)]?
= (x4 29) 2+ 2 (x4 29) 32 — 4u) 4 (32 — 4u)?
=2+ dzy+ 4%+ 612+ 122z — 8zu — 16yu+ 922 — 242u+ 1622
22, 3k (z429432)% B (z42y—32)%
(#8] (@42y+432)%=[(z+42y)+32]2
= (z42y)8 4 3(x 4 %) %32) 4+ 3(x 1+ 2y) (32)%4- (3e)?
=284 32%(y) + 32 (2y)*+ (Ry) 2+ 3(x* + 4oy + 43 (32)
+ 3 (x4 2y) (92%) +2728
=x8462% + 122y3 4 8y2+ 9222 4 36zyz 4 36722
+ 27228 4-54y22 42728,
(x+2y—32)% = [(x+2y) —32]8
= (x4 2y)% - 3(z+29)*(32) + 3(z+2y) (32)% - (32)2
= :L‘“—i--Gx’y 4122y 4848 — 9222 — 36xyz — 36y%2
+2Tx2% 4 54y2% — 2728,
23. U (a—2b)% 3 (a4-20)%
(W] (a+2b)%@—2b)"= {a®—4b*}*=a*—8a'D + 165"
24, RTBPF 2% Rk «¥ 2B (002" +a12%0 + oo ves + ay67+ 4y)
ber1® 4 by 84 ceseer - bygz+byy).
(82 BERBIZRBR 27+419=46, i RZ R B ZXER 4629
=17.
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e 2 ZARBUES aobiy +arbygtcoeeee +a16b1+a17bs-
fAER 46 -15=31 } 31—-19=12.
e 21 ZARBIS a10b19 taszbigt oo oo +aanby.

25. RTRH a0, 28, K 2t R (Ra®— 3.0 4424 — T2+ 22— 5)
(32% — 234222+ 32 —8).
(#%) «®* 2B 2(—-8)+3 (-3 +4 X224 (=) (-D+2x3
F(=5)0=—16~948474640=—4,
a8 ZARBAS 0(—8) 0 B+2% 24 (=3)(=1) +4%0+(=7)3
+2X0+(—5)0—_-9;(-0+4+3+0—21+0+0= —14.-
at ZHEBE 4(-8) +(—7)3+0X242(— 1)+ (-5)%0=—-32-21
+0—-24+0=—55.
26. FHWITHAEESER:
1. (@4y+2)? - @4y +28) =3y +2) (z+2)(zty).
2. (a®+b?)(224¥?) =l(ax+by)2+ ‘bxr—ay)
3. (a2-0) 22—y?) =(ax+by)?— (bx+ay)?
4. (a+b+o)¥=aP+ b3+ ¥+ 3a?(b+c)+3b%c+a)+3c(a+bd)
1-6abc.
(8] 1. (@+y+2°—@*+yi+2Y)
= (24 +32(x+y) 2+ 32 (x+y) + 28 —ab -y - 28
=3zy(x+y)+ 32z 2+ y)2+ 32%(z+y)
=3x+y)[zy +2(z+v)+2°]
=3@+y)(y+2z+a).
9. '(a’-i-b’)(t‘—}—y")=a.zzz+b’y2+b2x"+a’y’
=a?z? 4 2abry + b%y2+ b%a® — 2abxy-i--a?\y2
=(az+by)®+ (bx—ay)2
3. (a®—b?) 22— y%) = a%2? 4 b2yP— b2z2 - aYy?
=a%r? - 2abay 4 b2y2—b23 —2abxry — a2y?
= (az+by)?— (bx+-ay)?
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4., (a+bd+ct=at+3a%(b4c)+3a(b+c)24 (b+c)?
=a343a%(b+c)+3ab?+6abc+3ac?+ b8+ 3b3%c 4 3bc? 4 ¢8
—a"+b3+c"+3a2(b+c)+3b’(a+c)+3c’(a+b)+6abc

27. ﬁﬁﬂﬁ_f‘ PUEs 223

(2a22%7)5, (—a J°zb)7, (a2b™c?)2*, (a™b"c?)™.
[#8]  (2a%2%y7) = 3241015,

(—25,829,T= — 285,36,63
(a%b™c3, 20 = gdnp2mn_6a,

(a"'b”cz", B — gmn; nzc-na_

28. LT A&
(_ab203)(a8b)2(_ac8)6, (_ 22xyl)3(ax5yll)2. )
(#2]) (—ab*c®)(a’*b)*(—act® = (—ab2:3, (a%b?) (—a’c1®) =al’bicte.

( gx'zy()a azx ,/11)2 — (_ &Eeyla) (azm“’y"") = _saleeyu. )

2 g IV %110

1. LI 10ad%c® [4 15a8bc2
(%2 15a3bc2/10¢zb’c2 3a%/2b.

2 Pl —100az"2° B 7523421, d
[#8] 7522 421°/ —100az"2? = — 3ytz/4azs.
3. L) 28xmymin B — 35a%myn

(48] — 3522myn/28amymin= _5am/4ym,
4 P —18{a(b%c)?}? [§ —54{(ab?)?c}".
(#81 —54{(ad?)’c}®/—18{a(d’c)?}®

= —54a1%62%5/ — 18a%'%c® = 3a"b%/c.

6. Ll 2%—y? [ 2%y —ayt

y—ay?_ ay(z—y) _ ay
& o =Gty 47
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6.
(#%]

7.

(#2)

[#z]

9.

(#%)

10.
(42)

11

(#%)

Y (x—y)(a®—ay+v?) B (28 —y%)(a®+yP).

(% — ) (x4 ®) (T_?/)(12+1'1/+I/2)(.T+z/)(13—:u/{-7/ )
(- @—ry+y?) @—y) (@ —zy+47)
=(x+y) @3+ zy+9y?).

(a—b)2%(b—c)3(c—a)t
i . (b—a) (c—b)%a—c)®

(@a=0)*b—0c)c-at_ (a—b*b—0c)?c-a)
b—a) (c=b*a-c¢f —(a—b)yb—0i-(c—a’]

=(@->5)(b—-c)(c—a).
30a%b8ct — 25a8b2%c5 4 20a%bicT

it “babtc?

30a2bacl — 25a8[) + 20(14bdc7 — 6abc + da c" 4““{)26‘0
—5ab%c’

3rx—y 22—y +5x— Slx—y)?

e R

3z—yt—2x—pP+5(z—y)?
(y—x)?

) [3(:r(x__J) x— y)+5]_3(x 9)i—2(x—1)+5.

i1t 4a7 X (3ab3c?)® = (abe, ® = 6be.
4a7 % (3ab®c?)? = (cbe)2 ~6bc

=4a7%x 9a?b5%* - a?b%c® - 6bc = 6a"b3ec.

TR (D) (KR ZMUFR S, 2) e85, UMb,
a’+ {a®—(a*+-a?xa) X (a®*Xa+a?)}.
Q"= {a® - ‘at ~a? X a) X (a® Xa+a?)}=a"+ {a®+-a®xXa?}

=a’-at=al.

B d" - {a®-{a*+a’Xa) X (a®X a+a?)}

=ad"+ {a® ~atxa?+~axadxa+a?}

=a'+a’Rat ~a?Xa+aP~axal=ad
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12. 206" ARPTXAAEBE — 4026
—4a*(z%y?)? _ —4a®2% 202’

(8] Ra@*y®? | 2azx'y®

g2 8V %5119 §

B F R R
1. 15— (7—52)=2z4(5—32).
(%] EXEHER,
15 -7452=2z+5— 3z,
g 845z=5—z,
6x=—3,
Sor=—4
2. z(x+3)—4z(xr—5)=32(5—a)—16.
(MR B 4G,
2243z —42%24-20x=15x— 312 - 16,

m ‘ — 3224 23x=15x— 322 —16,
8z=—16,.
o E==2,

3. (z+1)(z4+2)—(z+3)(x+4) =0.
(#2] EX%4ER,
2243242 —22-T2—12=0,

g3 —4x=10,
. x__lO__S
YT T T

=14 X 4T T, T
4 z=lig+ gty
% BEH, 2-2-F_Z_7_,,
&ﬂ - _:1:____1’



